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1. Introduction
From use case point of view, SCG split bearer was claimed to be used in case that the gNB is overloaded or in deep fades compared to SCG bearer. Since the accurate load situation is only clearly known by gNB, then one issue was raised during the online discussion on R3-171035, which is given as follows: 
· How the MeNB decides on whether SCG bearer or SCG split bearer should be added, in the initial offloading procedure i.e., Secondary node addition procedure?   
This TP is to provide understandings on this issue: 

Text Proposal
- Issue
· How the MeNB decides on whether SCG bearer or SCG split bearer should be added, in the initial offloading procedure i.e., Secondary node addition procedure?
- One understanding of this issue: 
· Step 1: The MeNB decides which E-RABs should be offloaded to the secondary node based on its load status and the measurement report of the corresponding UE
· Step 2: The MeNB triggers the Secondary Node Addition procedure to the secondary node including the GTP tunnel endpoint of the X2 transport bearer. 
· Step 3: On receiving the message, the Secondary node decides whether to split the SCG bearer or not based on its load situation:
· Option 1: If it decides to split, then it is SCG Split bearer option
· Option 2: If it decides not to split, the Secondary node transmits the data packets in 100% flow while the portion of flow to master side is 0%. This is controlled by flow control mechanism. This seems like a SCG bearer option.
Note: One concern on this understanding is that it cannot be called SCG bearer option in the highlighted option above. The reason is: 
· In option 2 of Step 3 above, even if flow control mechanism (by 0% flow split to Master side) can make it like a SCG bearer option, the DRB mapping should always be performed in Master side on this part. The configuration should also go to UE. 
- The other understanding of this issue: 
· The MeNB is the node to decide on which option to use based on the information available on its side in the initial offloading procedure. In another words, MeNB should make the decision in step 1 above:
· Option 1: SCG split bearer option
· Option 2: SCG bearer option

